Section 4.1 The Distributive Property and Algebraic
Expressions

1. Review of the Distributive Property: If a, b and ¢ are any
numbers then it is true that
alb+c)z=ab+ac and a(b-c¢)=ab-ac.

This property can be modeled geometrically by examining the area
of the figure below.

Looking at the figure as one piece, we see that it has a length of

x + 3 and a width of 4, thus A=4(x + 3)

Looking at the figure as two pieces, one of which has a length of x

and @ width of 4 and the other of which has a Iength of 3and a

width of 4, we see that A = 4(x) + 4(3).

Since the two areas are of the same figure, they must be equal, so
4(x + 3) =4(x) + 4(3).

Example 1: Use the distributive property to simplify.

a. 3(x+5) = 34X '%'3(5)
= 5% +15

b. 3(x-5) = 3+(x) ¥+ 3-‘(?5:)
=23 x + (-I€)
= Zx~13
¢. —3(x+5]= ~3. (x) + (-..g.)("S)
= “3x + (-15)
= —3xX~I5

Note: Portions of this document are excerpted from the textbook Prealgebra, 7™ ed. by Charles
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2. Similar Terms: Recall that two terms (addends in an addition
expression) are similar if their variable parts are identical. Such
terms can be added or subtracted by applying the distributive
property. In the answer, the common variable part remains
unchanged, but the numbers in front of the variable parts are
added or subtracted.

Example 2: Simplify each of the following.

a dx+3x=4+3)x=T7x

b. 8a+10a = (& +10)en
= LB

c.3a-5a=(3-5)a=-2a

d 3a+17+5a = (’% &Tg‘@\\) "H‘? s X Q&{.»r.}
=R tsla+? L

3. The Value of an Algebraic Expression: To find the value of
an algebraic expressmn you must be given the expression and a
value of the unknown(s) to substitute into the algebraic
expression. After substituting the known vaiue into the expression
for the appropriate variable(s), simplify.
Example 3: Find the value of the given expression for the given
value of the variable.
a. 7x+2 forx=3
Fxiz = F( 3.) ve
= g§ g2
b. Tx— 2forx——3 SETRY S T
P N = (=T U2
Fx-z= F(3) ;— ¢2) ,.qu )

c. x? —3x+2 forx——2
xt-3x +2

= 2 i
Note: Portions of this document are excerpted from the textbook Prealgebra; 7" ed. by Charles
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4. Angles: An angle is formed by two rays that have the same
endpoint. The endpoint is called the vertex of the angle and the
rays are the sides of the angie Angles are measured in degrees.
The angle formed by rotating a ray through one complete rotation
is 360°, Thus, one-half of a full rotation forms a 180° angle (called
a straight angle) and one-fourth of a full rotation forms a 90° angle
(called a right angle).

ight Angle Straight Angle

An acute angle is an angle whose measure is between 0° and 90°.
An obtuse angle is an angle whose measure is between 90° and

180°.

Acute Angle ' Obtuse Angle @3}35 =75

Two angles are complementary if their sum is 90°. Two angles are

A% 2
supplementary if their sum is 180°. 90 90"
Example 4: Find the missing angle. Y - TReE/
x +35=90
~35+ x +35 =735 +20
¥=355
T s The wissiag amale is SS°
Practice Problems: oA
a. Find the missing angle. w4 s = (8 B
- ~60 + X+ 0O = ~60 ﬂsro‘
b > ] 8’6°°‘ 0

ApS: mmrmmﬁ Ms‘ug a.s‘ wo | Thorel

Note: Portions of this document are excerpted from the textbaok Prealgeb.ra ar by y Charles
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b. Simplify: 11a -15a = Gi - l‘;):&

Evaluate each expression for the given value of x.

c. —3x+2 forx=2
= b k2

d. —3x—5 forx=—4

= 12 ~%
=7

Answers to Practice Problems:
a. {120°}; b. 4a;c. 4;d. 7

Note: Partions of this document aré excerpted from the textbook Prealgebra, 7Med, by Charles
McKeague



Section 4.2 The Addition Property of Equality

1. Definition of Solution: A solution for an equation is a number
that when used in place of the variable makes the equation a true
statement.

Example 1: Check to see if the number to the right of each of
the following equations is a solution for the equation.

4. 3x+5=14; 3 3(3)+S =4 25 % s 2 ﬁa&ﬁ%’ﬁgeﬁg
a+s=1y — |
L=
| TRue!
b. 4x+3=7; 1 {4 ( :{) g ‘; Ves, ¥ 's & gol u.:fﬁam ;
S
'Twe
C. 4X—L:5( j;(-k; "S’(‘_&) -1 aUa./ -6 (s V’ﬁ_“a Sa-f“?&g?h:%ﬁ
245 = ~g2 =~ .
— {4 = =2
12712 gleel,

2. Addltlon Property of- Equality: LetA; B, and C represent
algebraic expressions.

IfFA=B "

thenA+*+C=B+C
Adding the same quantlty to both sides of an equation never
changes the solution for the equation. Because subtraction is
defined as the addltlon of the opposite, this property can be
extended fo subtraction.

fFA=B

thenA_- C=B-C

We use the addition property of equals to solve equatlons When
soivmg an equatlon we want to end up with an expression of the
form

X=a number
If the side of the equatlon that contains the X hasa number that is
subtracted from the x, we can add that number from both sides of
the equation to get the x by itself.

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
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If the side of the equation that contains the x has a number that is
added to the x, we can subtract that number from both sides of the
equation to get the x by itself.

Example 2: Solve each of the following.

a. x+3=15 ~Z 4 Kt3E=8 t1 Umﬁ‘”@
x= \% 1S =S
Thoe!

"ﬂu Sa\fvd%\cm i& \'2»»

b.a+9=-12 -9 4@%” =@, +{~12) %
O = <2
The gsoetion {3 =21,
c.x-7=-8 Fpy= = FHE
% = -1
The s a\“"g“”" T L

d x-6=1 Hdx-b=6*!
X =%

W g@%&%\am | i'g | : : 

3. Simplifying Before You Solve: Always simplify equatlons fully
before you start solving them. Look for similar terms that can be
combined and operations that can be carried out using the
dlstnbutlve property.

Example 3: Solve each of the following. Simplify fully before

you begin to solve. o g_k_.g._c:__,___ |
a Sa+6-4a=4 & (~2) +6 —H(-2) =9
& kb= | s eEY
~6 +atb=-6t+Y G ¢
Q= =% f A E ]
The Solud\w\ g_' m_z_; "

Riote: Portions of This document ara-exterpted fiom the textbook Prealgebra, 7" ed. by Charles
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f’ung@) - Fey= 15
Wlle~13 =56 =4
| | s -56 7Y
b. 4(2a-1)-7a=9-5 bo-3e%
42t Y(H) “3a > 4 TReE!
Ba~Y-Fa-Y '
a-4 =4y
SR L
o= 3

T\Me ezah&m 53 %

4. Solvmg Equatlons That Involve Fractions: Some equations
involve fractions. You may use the rules for addlng or subtracting
fractions along with the Addition Property of Equality to solve
these equations. Some equations have answers that are fractions.
Leave those answers as fractions in lowest form.

Example 4: Solve the given equations. — ﬁ‘w-r-k
3 7 a= “é‘
97478 | -m \ +-\ 3 e
ﬁ%af9§=:3;}% selation iy N % 12,20 -2
= A = ) . i .
?._,.? S—
5 = _ -
b. X—s—-- - —= | ‘-&0 i < '& -5
x-3 +5 =543 The Solahon T390, | ()87 %
¢ = o B'F €5
R 11
_ W o
“‘E’i 25
c.at+2=< 4D ;}‘%
4oty -2 43 Teoe !
= ""- 3 ;% | g
R -1 Ty

3 4 ¢ L T
o= % The gdnimns &,
Note: Portions of this documment are excerpted from the textbook Prealgebra, 7" ed. by Charles
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5. Using Equations to Solve Applied Problems To solve
applied problems:

e Identify the unknown and represent it with a variable. Write a
statement or draw a diagram that tells what quantity the
variable stands for.

o Write the equation that models the problem.

¢ Substitute in known values

» Solve the equation.

s Write your answer in English words.

If the equation does not involve a geometry formula for perimeter,
area or volume, you may combine the second and third steps,
writing the equation and substituting in the known values in one
step.

Example 5: Solve the given applied problems.

a. Two angles are complementary. One angle is 34°. Find the

other angle.

Let x be the unknown angle. (Identify the unknown.)

X + 34° = 90° (Write the equation
substituting in the
known value)

X + 34°-34° = 90°-34° (Solve the equation)

= 56°

The missing angle is 56°. (Write your answer in

English words.)

b. Two angles are supplementary. One angle is 108°. Find the
oth?:- angle A _a.,mta

o= e 0°=120°
ot X +10€° = ~ 108 g’ Aeve!
*= 72’

TL,L m?s’&'vis a\kﬂﬁL_Q vS ?’Z-Q,

Note: Portions of this document are excerpted from the textbook Prealgebra, 7 ed. by Charles
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Practice Problems: Solve each equatlon Show all steps.
P

da. x—-6=-8 \ &
¥=brb = -€+b (=2) L=-f
K';“fz’“ wgﬂﬁ—%’
| | TeoE!
T sdufion | s =T,
_a\uL\L
2-b= @%)“I
b. 2-6=a-1 2
—l = a~ | TROE !
The soluhon 1s -3,

cﬂ7a+6—sa=—3+1

&= =
a=~b +b& = '”““?;4‘8
o=t

The Q@E;uﬁf{:em (s H¢

d. a-Fl:-—§

_ 4 4 X
% @%g %+{¥

s .,,_.:L

o= =\

TL@; % bLa\,“E\am g .

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles

McKeague

T~ b (4) =3 H
mg}_&,_»&"{.ﬂ-"l

L )
-7 =
T*gp.u?f
am\{-
-
(J}+ﬁ~m%
. S N .-:3
Py “f )
?iwizﬂi
A &
22 -3
%ggﬁ
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e. Find the value for x given that the perimeter is 30 feet.
Perimdber = X + 11 +15
20 = X + 26
26 +20 = X +26 +(-26

TTTeat

Pociwiter =30 4ot |

20 ::(}})%’EE + 1g |
20 = \C+I3
20 =30
TRUE]

e

Answers to Practice Problems:
b. {-3}
c. {4}

d. {-1}
e. {41t}

Note: Portions of this document are eéxcerpted from the textbook Prealgebra; 7" ed. by Charles
McKeague



Section 4.3 The Mu!tiplic‘:a‘tibn Property of Equality
1. Multiplication Property of Equality: LetA,B,and C
represent algebraic expressions.

fFA=B

then AC=BC
Multiplying both sides of an equation by the same nonzero
quantity does not change the solution for the equation. Because
division is defined as multiplication by the reciprocal, the
Multlpircatron Property can be extended fo division (as long as you
don't divide by zeto.)

IfA=B
A B

then — = —.
C C

We use the Mulfiplication Property of Equality to solve equations.
When solving an equation, we want to end up with an expression
of the form
x=anumber (Ix= a number)
The number that multiplies the x-term is called the coefficient of x.
In your solution, the: coefflment of x mustbe 1. Ifthe x-term has a
coefficient other than 1, we can’ divide both sides by that number
to make the coefficient of x be 1. e o) ‘%\ é
Examp]e 1. Solve each of the followrng_-, ‘T Solwihan ‘%
2x =12 » S

2. The Multrpllcatlon Property and. Fractlons The Multlplfcat;on
Property involves dividing both sides of an- equation by a number.
If that number happens to be af -a'ctlon instead of drv-ld-rng you ¢an
multiply both sides of the equatlon by the remprocai..-.of:the. fraction
(since dividing is the same as multiplying by the reciprocal.) If the
solution for an equation is a fraction, reduce the fraction to lowest

terms.
Note: Portionis of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague




Aot
Example 2: Solve each of the ﬁfotlowugg T

|

xw_: 2" ‘ Thsatw‘\‘% g 55 2’€

3. Solving Equations Usmg Both the Addltlon and the
Multlpllcatlon Property of Equality: If the x- term in an equation
has a quantlty added to |t or subtracted from |t you must use the

term If the x- term has a coeff|0|ent other than 1 you must use the
Multrptrcatlon Property of Equality to make the coefficient 1. In
some equations the x-term has both a quantlty added to it or
subtracted from it and a coefficient other than 1, and you must use
both Properties to solve. In'such equations, use the Addition
Property first and the Multiplication Property second.

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



s D

Example 3: Solve the given equatlons
o

2\
a. 3x—5=-26 = AN
g 4+3x=5= 54 (20 3(”‘7'}’? z’é’. 3 F
3x =-2l | B
- =-26 |
W= &, 'Z—L '2(7
3 Li— s ( H Troe!
3 \
X==F
The solwvow {¢ —%,

b. —ga+6:14 2
_?Ea -‘—@ fl*'(’(o):-:!q"“_{,”&"). s ;f\
2 7

TL& salu:Hovx fg =20, ‘
4. 5olving EquETian That Reqmre Simplification: If an
equatlon can be simplified, then simplify it before you begin M\Q
&

solving it.

Example 4. Solve the given equation.
2(x-1)-3x=2
2ok + ey 2 ¢ =

Noté: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague.



Practice Problems: Solve each of the following problems. Show

all steps. chak \ DWW |
a ——x=-4 —'t‘ (g} /<
2 N T4
-—%—(%X;%{# _-tli_l:"q 2+
_ —
X Q T o

The g lnhon ( (s~ 5.0

S 3’,__({0.{_5 N . 5. ;
Fr- ix_ e C@K - ¥
%}x’ ? "'35' 5'«—'-?0
- g = Yo
rE = — <
' revef
1 :
o EX+2:_7 T.L“-_go:{wiﬁ%w s ~19.
~r+ oLy 41T LA -3) ek
Ly =—
T 4
2 N-2 /-4
X = "1&

Note: Portions of this document are excerpted from the textbook Prealgébra, 7" ed by CharleA
McKeague



e. 4x+8x—2x=15-10

\2x-2x = g"
lox= 5

Tie ghution (5 &

Answers to Practice Problems:

che ld
\ 44 Fe(d)-2()= 150

a. {8}b. {—g} c. {-5}d. {-18}e. {%}

Note: Portions of this document are excerpted from the textbook Préalgebra, 7" ed. by Charles

McKeague
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Section 4.4 Linear Equations in One Variable

1. Definition of a Linear Equation in One Variable: A linear
equation in one variable contains only one variable and that
variable is always raised to the first power and never appears in a
denominator.

Example 1: ldentify which of the following are linear equations

in one variable. .

a. 2x—7=4x-15 ; linear eguaton

b. @2x+3:0 foast a Livear 'ji-._-;:'&.‘h'd\n

C. 2.x—5=5 M_f\ S L{.V\W' éﬂyuaﬁb\o

2 4 15t nshg Linear equabow
d f1._15 y WA ?
1

(Note: ~x=x?) | mta\inear @q,m&'{mm

e 2x+4=x

2. Steps to Solve a Linear Equation:

 Simplify each side of the equation as much as possible.
Combine similar terms and use the distributive property.

¢ Use the addition property of equahty to get all variable terms
on one side of the equation and all constant terms on the
other, and then combine similar terms. A variable term is any
term that contains the variable. A constant term is any term
that contains only a number.

e Use the multiplication property of equality to get the
coefficient of the variable term to be 1.

« Check your solution in the original equation.

Note: Partions of this document are excerpted from the. textbook Prealgebra, 7 ed. by Charles
McKeague



Example 2: Solve the given equa ions.

a. 3y+5=9y+8.
‘-?sg +'Z(§ +8= 35‘!-‘!1
5= by +8

1 [=3 :;...l.b'
L
-y
2.3 9
~ -y
- 259
Theddubon is 3.
b. 10a+3 = 4(a )1 | cheelC
Toa 43 = g 4 4D+ 1o (-1)#3= 9L (-D-1 T+

Dat3 & Ha -4 +!

. . ~10 42 = Y - 1}
10a43 = Ya 3 ° +3 = 4 [~273+!
“Ha H10at3 = ~Ya +4a ~3 T 784
- bot3= -3  rF==T
“3+6a 3 = ~3H(-3) TROE )
bo.= - { '
BT A
b'f“éaé%B
S
hr"\L sdlud‘wvt 5 |

3. Solvmg Equatlons That Contain Fractions: If the equation
contains only one fraction, you may be able to so!ve it easily by
applylng the Addition and/or Mult:pllcatlon Properties. Ifthe
equation has several fractions, it is easier to use the method of
clearing fractions to solve the equatlon In this method, you find
the LCD for all of the fractions in the. equatlon but instead of
adjustmg all of the fractions so that they have the LCl you
multiply both sides of the equatlon by the LCD, using the
distributive property if needed. The resulting equations will no
longer contain any fractions,

Note: Portions of this documernit are excerpted from the textbook Preaigebra, 7" ed. by Charles
McKeague



. Example 3: Solve the given equations by clearing fractions.
Lopzy  BGTRT e Rg R L

%—-- El\(’x); 12

X =1z

s k=X |

4x 15~ x = (=)
VoS il 3 X
3‘11"“ ~3 3?‘

W=

b revel .
Practice Problems. Solve each.equation. Show all steps. Didr J

iy Yoy +4= 4y Hy 3 i Boodid B

2y +4=-3 “t4 2243
A2y +a= A3 wﬁ;;%

2y =-12 o

Lag=408)

. \

Note: Portions of this d0cum%n_t are excerpted from the textbook Prealgebra, 7" ed. by Charles
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b. 5(2x—4)+8 =38

5:2x +5(4) 18 =29
LOX ~20 +8 =38
LOx —~172 =23%§% .

2+ lox ~j2 =12 +38 [
l'ox 50

(o {0 10 T -

TLLS# (vd\ow s 5
L=y c. 3x+-

"'C’Mak -
g- Ech_)‘"ﬂ% -39
Sl o-43+8=3%

<. r:b?(-&-? =3F
20 +¥=3¢
38,&38

e A2x 472 = |
~2tex L2+
The solutipn s <,

~% ¥3x -5—8 —%-f(“"r’}
I x =~

Answers to Practice Problems:

a. {-6};b. {5};c. {—%};d- 4} T"}li;&":}.

Noté: Portions of this documient are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague
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Section 4.5 Applications

1. Blueprint for Problem Solving: Follow these steps for
solving applied problems.

Step 1

Step 2

Step 3

Step 4

Step 5

Step 6

Read the problem, and then mentally list the items
that are known and the items that are unknown.
Assign a variable to one of the unknown items. (In
most cases this will amount to letting x equal the
itern that is asked for in the problem.) Then translate
the other information in the problem to expressions
involving the variable.

Reread the problem, and then write an equation,
using the iters and variables listed in Steps 1 and
2, that describes the situation.

Sclve the equation found in Step 3.

Write your answer using a complete sentence.
Reread the problem, and check your solution with
the original words in the problem

When solv.i'ng: an applied problem, yozu must show the following

steps:

» Write a statement telling what quantity your variable(s)
represent. |
o Write an equation that describes the situation given in the
problem.
» Solve the equation, showing steps.
» Write your solution to the applied problem using the
correct units and in English words.
Each of the steps above is worth points on a test. Leaving out
any step will result in the loss of the points for that step.

2. Number Problems: To solve number problems,
e Let x stand for the number that you are looking for.
o Translate the | given prob!em into an equation using mathematical
symbols for the words in the problem.
e Solve the equatlon
e \Write your solution in English words.
Example 1: Solve the given number problems.

Note: Pértions of this document are excerpted from the textbook Prealgebra, 7" ed. by Chailes
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LA ﬂiéﬁ& wi

L/go

. The difference of a number and 10 is —15. Find the number.
MK

L-e:“ A= quv{owv‘\ WUMM

(¥)— () = —I5

X ~lp =A%

_5,5/*

K-l 4 (0 = HE FHO
X=-5

The v ¥Bnown nomaloer (s -5,

v AddiHon

b. Four times the sum of twice a number and 6 is —8. Find the

number.

1’{ (Sf;wr} = -
_4(2x +éa):-8
diox b=
Zx +24=-€
~24AEy +rd = ~2HHC-F)
Ex=-272
L P - _L (mgl'>

~H,

Thw\ém&wu MUMM fs

¢. The product of a number and —4 is —=21. Find the number.
Lot = omléuown number | e

(X)) = -2
~dx=-21
fJ. ( *;‘Z&) = —;TE (2! )

¥= 4

Let %= u\w\/«mcwm muwdn.w

1o =5

~ {5 =-15
TRve !

is%8. Fi gDwle
LY
A

|
}
Rin
L
r~

Qh_Lc -
—4 (Zl> ~ -2

— 2| =-1]
TRues!

Note: Partions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles

McKeague
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3. Geometry Problems: To solve a geometry problem: e

¢

 Draw a figure if needed.
» Then label your unknown with a statement or by labeling it on your

figure,
« Recall the geometry formula that is called for in the problem. This \
formula becomes your equation. Plug in any known values. =PIVl
e Solve the equation. —LT—
« \Write your solution in English words using proper units. /\
The preb!__em_s in this section use geometry formulas that we have 6 8
learned in previous sections as well as one new formula. 3 _z’\ am
New formula: In any triangle, the sum of the angles is 180°. zs 2 j\
Example 2: Solve the followmg geometry problem. 7
a. The length of a rectangle is three times the width. The perimeter &
is 80 feet Flnd the Iength and the width. st = 1 A
o= F0Cect ‘%‘“‘4%_35 _. e
80=3x 4 x ¥y + x| =3 (10 Leert)
0= €x | =30kt
4.8 - 1, &x —Cnec
TT T go = 2010 + (10) # 30} + (1)
_ o= 30 +o #3640
: PO = &8O
_ __ TRue!
T bemghe of 4o ,u\km 's B0dsitomd he wibh |+ 10 deat. ) L@ﬁ%___
b. One angle ina tnangle measures twice the smallest angle whlle A\
the largest angle is six times the smallest angle Find the measures 15 y"g\
of all three angles. _ 2"; .2“ o
“eh %= wsasuve ot He swalle r-‘f“@;yg o =26° Z
Zye wesgore A Tpue @Mﬂ(g_j* = 2.-(20*)= 40" 7 3'3
Vo= bt £+ 7 anal | = 6 -(20°)F [20° ﬁ
A X = Vatasone o aaéfs}@:ﬂf‘“ aﬁ§Q
(XY &+ (2x)+ (6x)= 180 , [ChecF
qx_;g{) (20°)+ 20 (27) + 6(20°) Z6"
i %0 20° +Y0° +120°=180°
Q& == (80° =1 g0°
X 29 545 TRvE]
ot
X = 25 y
Note: Portions of this docuriient are excerpted from the textbook Prealgebra, 7" €d. by Charles
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4.

Age Problems: To solve age problems:
¢ Set up a chart with the names of the people involved along
the rows and the “now” and “years ago (or years in the
future) as the columns.
« Label one of the boxes “X”, and fill in the other boxes
appropriately. .
¢ Read the problem arid use the information in the problem to
write an equation using quantities in some of the boxes.
» Solve the equation.
o Write your solution(s) in English words.
Example 3: Solve the followmg age problem.
Diane is 23 year older than her daughter Amy. In'5 years, the
sum of their ages will be 91. How old are they now?

e

CPME

S&
271

|

§< \/Ws atA C ng) ymml |

QH—Z@’) + (,zu-g) 6?;[

cke}:,i .

2% +23:=9])

Zx

12X L 58
P s

‘K

!

20} a_

™ = Amy’s Age Now
E/quf,/\/ow -W}%Syma LQ)LX Am?'s'ﬁﬁj""

b( ’rZ’%) \)..ez,nr fQ<I JrZS’) )’“““;;";4 DM’V\& s /ge Now = X123
' =(29)+22

f@r—p r2g] +L(2N#s] =]
53 +3¢=9]

~2%4+2 % +23 > -23244]) ' a1 ——6{;
' True/

| ]
(D 1 ave ;g ;Zyt&’ﬂﬂéi yg@,\/ﬁwj/g‘wy 5 Zcfijm!é!é{ “QQis %

By

Note: Portions of this documént are excerpted from the textbook Prealgebra, 7" ed. by Charles
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lenata = Y teat

Wit =(~3) Gt

Practice Problems. Solve the given word problems. When solving
an applied problem, you must show the followmg steps:
¢ Write a statement telling what quantity your variable(s)
represent.
o Write an equation that describes the situation given in the
problem.
e Solve the equation, showing steps.

o Write your solution to the applied problem using the correct
y PR P g SD m _

units and in English words.

a. The sum of twice a number and 7 is 29. Find the number. F
LeY x = onMnswn Wowaloer

@) + N =
2x ~F F3 - 29+%
2% =36

S = 2 i
}

>~ 22373
K= 2.\
Xx=1%
2 (18) + (-3)=24
24229
TROE! L

T

D Wi

b. The width of a rectangle is 3 feet less than |ts length. If the
perimeter is 22 feet, what is the width? hgta = Ffeet
et x= erwag“'} et f"Eﬁit‘AWﬂLL Ath= X3
=Z)}-3
Rerwmeater = 2.2 Leot 4 @ud-

22= (X4 (2 (%) wﬁxb&}

22 - Ux—b o

6+22 = Yx-6 L6 cher
;?”%’x_ 22 = ¥4 +3 +4
g 1. 9x 22 =1 H)

21 F22
Thie ]
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c. Pat is 2 years younger than his wife, Wynn. Ten years ago the

sum of their ages was 48., How old are they now? N
e l:”—/\—‘?(~ (/l)‘yvm§ @ VO
?@mm \ A@a Now /’rge 1 yedv 040 | x
p 2 ] 12 . % Patls age Now = X -2
o\:"r (A )\/e&:!: ) years otd A i o5y
ﬁTbﬂ‘a‘l. ffu-ér—— | g yes rs «j? ﬁ_g?w\z-_
K_—Q(—F\E_) Y X-16) =44 Y o "%
“&
2% —272 =4Y¢ o
Z2X-22 ¥ = 4222 =
22X = 70 | CM
2% = 720 IED (5151
- & Ry o+ 28FYE
x= A¢ | YE =Yg
— muvf

M

Pok is EE '\,m @u o M w7nm"'b.s 35 yearr ol now, | .|

Answers fo Practice Problems:

a. The number is 18. b. The width is 4 ft.

c. Pat is 33 and Wynn is 35.
Note: Portions. of this document are excerpted from the textbook Prealgebra; 7" ed. by Charles
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Section 4.6 Evaluating Formulas
1. What is a Formula? A formula is an equation that contains
more than one variable. |
Example: Can you recognize what each of the following
formulas represents?

a A=lw rea st A r‘cc‘%awajké
b. V=iwh  Volume % a fe;&m%&@w- priswn

¢. A=—bh Aﬁe&\ &t AMQW%L&

N =

d x+y=180° gqpp!»&meﬂ‘ltml? Wﬁ!‘(’s sow T 1£6°

2. Evaluating a Formula: To evaluate a formula:
< Substitute all known values into the formula. You should
- have only one variable remaining.
¢ Solve this linear equation in one variable by the methods of
* the previous sections. |

Example: Evaluate the glven formulas for the given values of v
the variables. SDw/

- -- 6 1 o4 =224 s
a. I=PeReT where P=$2000, R=— and T=2—yrs. 27 T TR

T=W2000). /aa\xzji) K g

-3 te 0

I :@Q._.a-o@ ) ( __ ) /N

FAN
2<¢ 2§
. 9,{.0_00

. \. RS NG Pl ?0{90
T = ‘_535 w/fo
T2 #a00 B TVAN

e 2SS /o 1D
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b. P=21+2W where P=30 in. and W=6 in.
(Bowm) = 2L +2(6,.)

ik 20m = —120a 2L Tl | cheele
. @0,!/;) Z(q,:a)‘?{Z(érs

2 L

1€ im =

R l% 1.‘_,\ _ .-L_ |
_LZ— v __...—-\ oot 3 —2&%

(Z‘éé’) 3(!20 ) +32°
Z,%c?" /Q °y 8z2°

Z*fg = 2!6 +32°2
Y8 T 2¥E°
TRUE/
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